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Exercise

1. -

A. 

tan− 1( ) + tan− 1( )
1

2

1

3

π

2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_0afc5KkctQFX


B. 

C. 

D. 

Answer:

Watch Video Solution

π

4

π

3

π

6

2. If A is non singular  matrix and |A| =8,

then |AdjA|=

A. 8

3 × 3

https://dl.doubtnut.com/l/_0afc5KkctQFX
https://dl.doubtnut.com/l/_Fzg4sRp3zo4X


B. 24

C. 64

D. 512

Answer:

Watch Video Solution

3.  then find the

value of 

A. 

y = sin− 1( ) + cos − 1( )
x

2
x

2

[ ]
x= 1

dy

dx

π

2

https://dl.doubtnut.com/l/_Fzg4sRp3zo4X
https://dl.doubtnut.com/l/_JP5M43dTuncq


B. 0

C. 

D. 1

Answer:

Watch Video Solution

π

4.  =

A. 

π / 2

∫

−π / 2

|sinx|dx

−1

https://dl.doubtnut.com/l/_JP5M43dTuncq
https://dl.doubtnut.com/l/_Q53iGsUJInR4


B. 2

C. 1

D. 0

Answer:

Watch Video Solution

5. If  and 

,then  =

A. 1

→
a = 2 î − ĵ + k̂

→
b = − î + 3ĵ + 4k̂

→
a .

→
b

https://dl.doubtnut.com/l/_Q53iGsUJInR4
https://dl.doubtnut.com/l/_PmymMyTUfSGz


B. 3

C. 

D. 

Answer:

Watch Video Solution

−3

−1

6. The line  is

A. parallel to x-axis

B. parallel to z-axis

= =
x − a

4

y − b

3

z − c

0

https://dl.doubtnut.com/l/_PmymMyTUfSGz
https://dl.doubtnut.com/l/_yAam2nUTTRNP


C. parallel to xy-plane

D. parallel t yz-plane

Answer:

Watch Video Solution

7. A ball is drawn from the urn, If in this

experiment of a drawing ball, consider the

following evets = A = the ball drawn is labelled

as 2 or 3 or 6 or 7, B = the ball drawn is

lebeleed as 2 or 4 or 6 or 7 then,  isP (A/B)

https://dl.doubtnut.com/l/_yAam2nUTTRNP
https://dl.doubtnut.com/l/_VaMdWLq0iCje


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3

4

3

5

1

4

2

5

8. If X is a random vairalbe, then for any

constant  and b, var (ax+b) =a( ≠ o)

https://dl.doubtnut.com/l/_VaMdWLq0iCje
https://dl.doubtnut.com/l/_hcHvmhQSROFr


A. a var (x)+b

B. a vr (x)

C. |a| var (x)

D. 

Answer:

Watch Video Solution

a2var(x)

9. (Z,*) where a* b = a+b-ab for all 

prove that the given binary operation * is

associative and commutative.

a, b ∈ Z

https://dl.doubtnut.com/l/_hcHvmhQSROFr
https://dl.doubtnut.com/l/_fFVoZSdzB4aB


Watch Video Solution

10. Show that 

Watch Video Solution

sin(cot − 1(tan cos − 1x)) = x

11. If  and  then find the

value of x.

Watch Video Solution

A = [
x 1

1 0
] A2 = I

https://dl.doubtnut.com/l/_fFVoZSdzB4aB
https://dl.doubtnut.com/l/_4OxZGTVz97eK
https://dl.doubtnut.com/l/_3NY9sUvGtC6z


12. Find the value of 

Watch Video Solution

∣
∣
∣
∣
∣

1 1 1

4 3 2

42 32 22

∣
∣

∣

∣
∣

13.  If f(x) is

continous at  then find k.

Watch Video Solution

f(x) = {
kx + 1 x ≤ π

cos x x > π

x = π

https://dl.doubtnut.com/l/_7bl1rrw1XNQQ
https://dl.doubtnut.com/l/_csy5wbUL3aXM


14. if  then prove that 

Watch Video Solution

y = (x + √x2 + a2)
n

=
dy

dx

ny

√x2 + a2

15. Evaluate: .

Watch Video Solution

∫( )dx
cos x + x sinx

x(x + cos x)

16. Verify Rolle's theorem for the function

 in [-4,2]f(x) = x2 + 2x − 8

https://dl.doubtnut.com/l/_keWxl5HLH7U4
https://dl.doubtnut.com/l/_wvwTHY14TXlr
https://dl.doubtnut.com/l/_p1gk9kWHQKIJ


Watch Video Solution

17. Solve: 

Watch Video Solution

(1 + x2) = y + tan− 1 x
dy

dx

18. If  is a unit vector and

 then find 

Watch Video Solution

→
p

(
→
x −

→
p ). (

→
x +

→
p ) = 8 ∣

∣
→
x ∣

∣

https://dl.doubtnut.com/l/_p1gk9kWHQKIJ
https://dl.doubtnut.com/l/_080olKnC9sMM
https://dl.doubtnut.com/l/_GVDlDZyHjOva


19. Find the intercepts made by the plane x-

2y+3z-18=0 on the axes.

Watch Video Solution

20. If  and 

 then find  and 

.

Watch Video Solution

P (A) = , P (B) =
5

13

6

13

P (A ∪ B) = 7/13 P( ¯̄̄A /B)

P (B/A)

https://dl.doubtnut.com/l/_o0kWvz0ECvrK
https://dl.doubtnut.com/l/_VU5EzjYKpi8Y


21. The mean and variance of a binomial

distribution are 16 and 12 respectively . Find

the probability of getting 8 successes in this

distribution.

Watch Video Solution

22. Prove that

Watch Video Solution

tan− 1{ } = +
√1 + cos x + √1 − cos x

√1 + cos x − √1 − cos x

π

4
x

2

https://dl.doubtnut.com/l/_J7uh1TGbbI6G
https://dl.doubtnut.com/l/_TthKUM54sOtN
https://dl.doubtnut.com/l/_lhT9ClKVj85K


23. Let  and  then

find the K when .

Watch Video Solution

A = [
1 0

−1 7
] I = [

1 0

0 1
]

A2 = 8A + KI

24. Show that  satrisfies the

matrix equation =0

Watch Video Solution

A =
⎡
⎢
⎣

1 2 2

2 1 2

2 2 1

⎤
⎥
⎦

A2 − 4A − 5I3

https://dl.doubtnut.com/l/_lhT9ClKVj85K
https://dl.doubtnut.com/l/_DvLuW3Vdbc5W


25. If  are in A.P. then show that , 

Watch Video Solution

α, β, γ

∣
∣
∣
∣
∣

x − 3 x − 4 x − α

x − 2 x − 3 x − β

x − 1 x − 2 x − γ

∣
∣

∣

∣
∣

= 0

26. If 

then prove that 

Watch Video Solution

√1 − x6 + √1 − y6 = a(x3 − y3)

= √
dy

dx

x2

y2

1 − y6

1 − x6

https://dl.doubtnut.com/l/_F5SM5uUQUNF3
https://dl.doubtnut.com/l/_j0c233926X5U


27. If  then prove that 

.

Watch Video Solution

y = (x + √1 + x2)
n

(1 + x2)y2 + xy1 = n2y

28. Evaluate: 

Watch Video Solution

∫
dx

1 + tanx

29. Evaluate: 

Watch Video Solution

∫ex dx
2 − sin 2x

1 − cos 2x

https://dl.doubtnut.com/l/_0iQzlpZtjvII
https://dl.doubtnut.com/l/_4wezSBGlXRTR
https://dl.doubtnut.com/l/_y6t5786GK0Ma


30. Solve: 

Watch Video Solution

(x + 3) − 3y = (x + 3)
5dy

dx

31. Solve: 

Watch Video Solution

y2dx + (xy + x2)dy = 0

32. If  and 

 then

→
a ×

→
b =

→
c ×

→
d

→
a ×

→
c =

→
b ×

→
d ,

→
a ≠

→
d ,

→
b ≠

→
c

https://dl.doubtnut.com/l/_y6t5786GK0Ma
https://dl.doubtnut.com/l/_JlaIfmNWyHYt
https://dl.doubtnut.com/l/_RHHqPzeQYqiC
https://dl.doubtnut.com/l/_KYBbsEzuprcr


show that  is parallel to 

Watch Video Solution

→
b −

→
c

→
a −

→
d

33. A and B toss a coin alternately untill one of

them gets a head for the first time and wins

the toss. If A begin, find the respective

probability ties for A and B to win the toss.

Watch Video Solution

https://dl.doubtnut.com/l/_KYBbsEzuprcr
https://dl.doubtnut.com/l/_p85X3vq5qda3


34. Show that the sum of the intercepts of the

tangent to the curve  on the

coordinate axes is constant.

Watch Video Solution

√x + √y = √a

35. Prove that the perpendicular distance of

the line 3x+4y+5 =0 from origin is 1 unit.

Watch Video Solution

https://dl.doubtnut.com/l/_trv9AgSYAcNC
https://dl.doubtnut.com/l/_b6Od7ILDE9nu


36. If  then prove that 

.

Watch Video Solution

→
a +

→
b +

→
c =

→
0

→
a ×

→
b =

→
b ×

→
c =

→
c ×

→
a

https://dl.doubtnut.com/l/_3FaeEcyijgV3

